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Abstract

In this thesis, we discuss a model of equity-indexed annuity for designing annuity products. We assume
that buyers of the insurance want to maximize their expected discounted utility of wealth at death
time. The expected present value of EIA should be greater than that of investment without EIA. We
solve perameters for this condition by using Hamilton-Jacobi-Bellman Equation. Finally,we propose an

efficient method to design and determine policy variables of the annuity products from this annalysis.
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